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I8 = HOxE % v A % IR A X F & s =
1 ZREBE 59,282,588 58,064,030 1,218,558
1 PERGBRE 57,682,120 57,259,730 422,390
2 PEFGHRBE 766,800 766,800 0
3 BEEXRKE 833,668 37,500 796,168
4 ZTDith 0 0 0
2 HABSE 0 0 0
1 PTAZFHEBRE 0 0 0
3 &HE 2,461,377 2,461,377 0
1 FIFHAigHE 0 0 0
2 MEEBNS 2,461,377 2,461,377 0|memnzns Ly
4 HILA 40,214 40,214 0
1 REREE 40,214 40,214 OB 37,200/, BAR—)L 3014M
2 i 0 0 0
(=] &t 61,784,179 60,565,621 1,218,558
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] B X R FE & X H % * . % lim =
1 WHEMEE 53,072,575 53,072,575 0
1 FBE 8,874,434 8,874,434 Ok-/Sv @R L%
2 BIBE 44 198,141 44 198,141 O|F3rnes
=) &t 53,072,575 53,072,575 0
- IR A & %E 60,565,621 H
- X B & 53,072,575 H
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